
ku4a AY, = $L,)
‘Iad  AY, = Y,‘- Y,_,  = mrrh&hmoIi

A&.,  = b.,- ~1.~ = n~~rh.duhtdfa~uaJ

tp$Mh%iiuu7

v = a'Pls?~7ur~rJuaJr?udawawta

(incremental capital output ratio)

EC 362

(gross investment)

389



tJ&i Y = Y,_,+ ($o(,-,  -cq-,)  . . . . . . . . . . . . (1)
v

n?wJ?urviin’yni7oeunitllu  ttffcJ=niroout-@oinii~

Iktnfi  : I, = S, + F, . . . . . . . . . . . . . . . . (3)

M,  = mY, (m - ik-mixiitui) . . . . . . . . . . . . . . . . . . (4)

tSu~utwdomniitYio:u70lnniriJoontt~rt~uoouoin

h¶d~tnfI  : M, d X, + F, . . . . . . . . . . . . . . . . . (5)

ni~3lnnridoT7ulk  hi%dumxl  :

C, = Y, -’ I, + F, . . . . . . . . . . . . . . . . (6)
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Y - c,+ I, .*..................  (I,)

c, - a, + a, Y, + a2  r, + u, . . . . . . . . . . . . . . . . . . . . . (2)

1, - b, + b,Y,  + b,r,  + v , .................... (3)

v - c, + c,Y, + C,r,  + 2, .................... (4 )
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Xl = a,,X,  + a,&, + a,& + a,26  + F,

x2 I a,,X,  + a,,& + a,& + a,& + F2

x3 = a,$,  + a,& + a3,X3  + a34X4 + F3

x4 = a,,X,  + a4p2  + a,,X,  + a,,X,  + F4

X = (ISA)-’  F

b&I  X 80  Column matr ix : Xl

X2

(>

X3

X4

A iio’ matr ix

I 40  identity matrix =

E C  3 6 2 397



(I - A)-’  &I inverse ?KIJ  matrix (I - A)

1Jlpilik 1 . adjoint  (I - A)
determinant (I-A)

LLIZ  F ?&I  matrix YKJ  final demand :

x = X!
0

coefficient matrix (A) =

x2

d& (I - A) = 0.4 -0.2

(-0.4 0.7 )
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determinant B V&I / B / = b, ,bzP - b,,b,,

M::  adjoint  B  =

&M”M  determinant (I-A) = (.28  - .8) = 0.2

adjoin! (I - A)

(,+q’ t
. .

g !$ >( ;0.4 0.4
-- 2 1 12
0.2 0.2

~J#I  X = (I - A)-’  F

1x’ i I( 10 i 40/

I =

1I x2 I 2 2 I 5 =\30  I
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W = G, + 0.5 G, + 0.75 G,

max im ize v - 5x, + 3x,

subject to : 3x, + 5x, I 15

402

5x, + 2x, I 10

x, ) x, 2 0
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y2 = v, AY, + v,  AY,

hi4 v, = o’slniaut~~YoJ?udawRFllm  capital-output

ratio) luniawlm Y,

L&x V, = ~~nEi?uL~U110J?uQiawnwWn~unllwtw  Y,

L!!L+  = l - b

K +*2 b5 +(1-b)&
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